PP14 «m 10,1990

BP15 1 10100

PP16 kn 10,2160

PP17 im 10,2249

PP18 i 10,2205

PP19 i 02343

PP21 kn 10,2495

PP22 iy 102600

PP23 i 10510

/

SEZNAM VYTYCOVACICH BODU

S001

1 —552561.0184 —1157067.2731
2 —552553.2108 —1157086.2288
3 —552549.0748 —1157093.0897
4 —552536.3227 —1157109.7746
5 —552524.1710 —1157125.6740
6 —552518.4539 —1157133.8762
7 —552510.1590 —1157145.1107
8 —552500.6419 —1157156.0503
9 —552494.5097 —1157161.9817
10 —552488.2788 —1157170.5069
11 —552484.2703 —1157178.6187
12 —-552479.7861 —1157188.1131
13 —552473.5716 —1157207.0768
14 —-552472.0788 —1157229.9472
15 —552473.0093 —1157240.9190
16 —552473.5163 —1157246.8981
17 —552474.1924 —1157254.8703
18 —552474.6572 —1157260.3511
19 —552475.3756 —1157268.8216
20 —552476.3474 —1157280.2814
21 —552476.9812 —1157287.7353
22 —552477.9954 —1157299.7135
23 —552479.0095 —1157311.6717
24 —552485.5237 —1157330.2990
25 —552490.5792 —1157342.2757
26 —552495.6348 —1157354.2524
27 —=552503.0237 —11573571.7568
28 —552511.1904 —1157391.1037
29 —552522.4682 —1157417.8210
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